Question Bank:
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What are the reasons of the following:                      

a- Na+ and Cu+ have the same radius and charge, but they do not substitute one another?

b- Why during the process of crystallization, crystals assume various geometric shapes?

c- Why Phosphate mineral class has a large variety of different mineral species?
d- Why the size of cation < neutral, and anion > neutral?  
e- Why the elements have isotopes?
Complete the boxes in the below figure (from 1 to 10):     

Complete the following:                    

a) A ………………. is a naturally occurring mineral-like substance that does not demonstrate crystallinity (opal, SiO2·nH2O) and obsidian.

b) The main example of phosphate group mineral is ………………. .
c) ……………… a measure of an atom's desire to gain an electron, forming a negative ion.

d) ………………. is half the distance between the two nuclei of a diatomic molecule.
e) Crystals are bounded by a number of surfaces (usually flat) which we called ………….

f) ………………. a group of atoms which describe crystal structure.

g) Arsenic mineral is …………….... native.

h) The minerals are Albus color (white) named as ……………… . 
Compare between the main subclasses of Silicate groups.     
Define the following:                           

a) Ionic potential.

b) Mineral Fracture.

c) Unit cell.

d) Ionization Energy.

e) Oxides Mineral.
f) Atomic radius.
Correct the following if wrong:                        

a) Diamond mineral has hardness 4 according to the Moho Scale.

b) Halide class minerals typically have high densities.

c) Atomic radius going from left to right across a period, the size gets smaller.

d) The Solid angle is formed by the intersection of any two adjacent faces.

e) Luster is the ability of mineral to transmitted light.

f) Cyclosilicates: are composed of two-dimensional, infinite layers of [SiO4] tetrahedra.

g) The structural unit of the sulfate minerals is the anionic complex [SO4]2−.

h) The Native mineral class divided into Metal, Metalloid, and non-Metals.

i) 60 picometer equal to 0.3 Angstrom. 

j) The system is Triclinic a =b = c, α = β = γ = 90o.
Matching between the column A and B                               

	1
	Phosphates class mineral
	A
	Isometric

	2
	Ionic potential
	B
	Crystal Structure

	3
	Fracture
	C
	z/r

	4
	Motif + Lattice
	D
	primitive

	5
	Bravais lattices.
	E
	Monazite

	6
	Cubic System
	F
	Hackly
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